CENTREFOREX SIGNAL PERFORMANCE 01 - May - 2017 To 31 - May - 2017

EUR/USD : 000 USD/CHF : -30 GBP/USD : -20 EUR/JPY : -10 XAU/USD : 900 Total Pips : 840



Date	Symbol	Direction	Entry Price	Stop Loss	Туре	Target	Close Price	Profit/Loss
2017-05-31	XAU / USD	BUY	1261	1262	CLOSED	1270	1270	900
2017-05-30	XAU / USD	BUY	1266	1263	CLOSED	1282	1263	-300
2017-05-30	EUR / JPY	SELL	124.05	124.35	CLOSED	123.35	124.35	-30
2017-05-29	USD / CHF	BUY	0.9735	0.9685	CLOSED	0.9775	0.9775	40
2017-05-26	EUR / USD	SELL	1.1215	1.1255	CLOSED	1.1185	1.1185	30
2017-05-24	GBP / USD	SELL	1.2980	1.3040	CLOSED	1.2930	1.2930	50
2017-05-24	EUR / USD	SELL	1.1205	1.1275	CLOSED	1.1205	1.1205	0
2017-05-24	USD / CHF	BUY	0.9740	0.9690	CLOSED	0.9740	0.9740	0
2017-05-23	EUR / USD	BUY	1.1220	1.1150	CLOSED	1.1230	1.1180	-40
2017-05-23	USD / CHF	SELL	0.9730	0.9770	CLOSED	0.9720	0.9770	-40
2017-05-23	EUR / JPY	BUY	124.80	124.00	CLOSED	124.90	124.90	10
2017-05-18	EUR / USD	BUY	1.1135	1.1065	CLOSED	1.1185	1.1135	0
2017-05-18	USD / CHF	SELL	0.9805	0.9865	CLOSED	0.9755	0.9795	10
2017-05-18	XAU / USD	BUY	1253	1235	CLOSED	1253	1253	0
2017-05-16	XAU / USD	BUY	1238	1235	CLOSED	1237	1237	-100
2017-05-12	GBP / USD	SELL	1.2890	1.2960	CLOSED	1.2870	1.2870	20
2017-05-12	EUR / JPY	SELL	123.80	124.50	CLOSED	123.70	123.70	10
2017-05-12	EUR / USD	BUY	1.0860	1.0830	CLOSED	1.0890	1.0890	30
2017-05-12	USD / CHF	BUY	1.0080	0.9940	CLOSED	1.0080	1.0080	0
2017-05-11	EUR / USD	SELL	1.0870	1.0910	CLOSED	1.0870	1.0870	0
2017-05-11	USD / CHF	BUY	1.0080	1.0040	CLOSED	1.0110	1.0080	0

2017-05-11	EUR / JPY	BUY	124.00	123.40	CLOSED	124.50	123.40	-60
2017-05-11	XAU / USD	SELL	1221	1227	CLOSED	1216	1227	-600
2017-05-10	EUR / USD	SELL	1.0890	1.0940	CLOSED	1.0850	1.0870	20
2017-05-10	GBP / USD	BUY	1.2940	1.2900	CLOSED	1.2990	1.2940	0
2017-05-10	USD / CHF	BUY	1.0050	0.9970	CLOSED	1.0120	1.0090	40
2017-05-10	XAU / USD	BUY	1221	1213	CLOSED	1228	1221	0
2017-05-10	EUR / JPY	SELL	124.05	123.55	CLOSED	124.55	124.05	0
2017-05-09	GBP / USD	BUY	1.2940	1.2910	CLOSED	1.2980	1.2910	-30
2017-05-08	EUR / USD	BUY	1.0950	1.0930	CLOSED	1.1020	1.0930	-20
2017-05-08	GBP / USD	BUY	1.2955	1.2895	CLOSED	1.2955	1.2955	0
2017-05-08	USD / CHF	SELL	0.9920	0.9970	CLOSED	0.9860	0.9970	-50
2017-05-08	XAU / USD	SELL	1233	1238	CLOSED	1224	1227	600
2017-05-05	EUR / USD	BUY	1.0950	1.0870	CLOSED	1.1020	1.0990	40
2017-05-05	USD / CHF	SELL	0.9890	0.9960	CLOSED	0.9830	0.9870	20
2017-05-05	EUR / JPY	BUY	123.25	122.45	CLOSED	123.95	123.85	60
2017-05-05	XAU / USD	SELL	1231	1242	CLOSED	1221	1227	400
2017-05-04	EUR / USD	SELL	1.0900	10960	CLOSED	1.0850	1.0960	-60
2017-05-04	GBP / USD	SELL	1.2895	1.2955	CLOSED	1.2815	1.2925	-30
2017-05-04	USD / CHF	BUY	0.9930	0.9880	CLOSED	0.9970	0.9880	-50
2017-05-03	EUR / USD	BUY	1.0915	1.0875	CLOSED	1.0895	1.0895	0
2017-05-03	GBP / USD	BUY	1.2910	1.2860	CLOSED	1.2890	1.2860	-50
2017-05-03	USD / CHF	SELL	0.9930	0.9970	CLOSED	0.9930	0.9930	0
2017-05-02	EUR / USD	SELL	1.0920	1.0960	CLOSED	1.0920	1.0920	0
2017-05-02	GBP / USD	SELL	1.2905	1.2955	CLOSED	1.2915	1.2915	-10
2017-05-02	USD / CHF	BUY	0.9950	0.9920	CLOSED	0.9980	0.9920	-30
2017-05-01	EUR / USD	SELL	1.0900	1.0960	CLOSED	1.0900	1.0900	0
2017-05-01	GBP / USD	SELL	1.2935	1.2975	CLOSED	1.2905	1.2905	30
2017-05-01	USD / CHF	BUY	0.9930	0.9880	CLOSED	0.9960	0.9960	30

2	017-05-01	XAU / USD	SELL	1266	1269	CLOSED	1266	1266	0
---	-----------	-----------	------	------	------	--------	------	------	---